
Cvičení 8.

Důležité limity

• limx→0
sinx
x

= 1

• limx→0
ex−1
x

= 1.

Spočtěte limity

1. i) limx→1
x2−1

2x2−x−1

ii) limx→∞

(
x3

x2+1
− x

)
iii) limx→8

√
9+2x−5
3√x−2

iv) limx→2

(
1

x2−2x
− x

x2−4

)
v) limx→1

x100−2x+1
x50−2x+1

vi) limx→1
x+x2+x3+...+xn−n

x−1
.

2. i) limx→0
(1+x)(1+2x)...(1+nx)−1

x

ii) limx→0
(1+mx)n−(1+nx)m

x2

iii) limx→2
(x2−x−2)20

(x3−12x+16)10
.

3. i) limx→∞ x
4
3

(
3
√
x2 + 1− 3

√
x2 − 1

)
ii) limx→16

4√x−2√
x−4

iii) limx→∞
√
x3

(√
x+ 1 +

√
x− 1− 2

√
x
)

iv) limx→a+

√
x−

√
a+

√
x−a√

x2−a2
.

4. i) limx→0
cosx
x

ii) limx→0
tgx
x

iii) limx→a
tgx−tga
x−a

.

Řešení:



1. i) limx→1
x2−1

2x2−x−1
= limx→1

(x−1)(x+1)
(x−1)(2x+1)

= limx→1
x+1
2x+1

= 2
3
.

ii) limx→∞

(
x3

x2+1
− x

)
= limx→∞

x3−x(x2+1)

x2+1
= limx→∞

−1

x+ 1
x

= 0.

iii)

lim
x→8

√
9 + 2x − 5

3√x − 2
= lim

x→8

√
9 + 2x − 5

3√x − 2
·
√
9 + 2x + 5

√
9 + 2x + 5

·
3√x2 + 2 3√x + 4

3√x2 + 2 3√x + 4
= lim

x→8

9 + 2x − 25

x − 8
·

3√x2 + 2 3√x + 4
√
9 + 2x + 5

= lim
x→8

2 ·
3√x2 + 2 3√x + 4
√
9 + 2x + 5

=
12

5
.

iv) limx→2

(
1

x2−2x
− x

x2−4

)
= limx→2

(x+2)−x2

x(x−2)(x+2)
= limx→2

−(x−2)(x+1)
x(x−2)(x+2)

= limx→2
−(x+1)
x(x+2)

= −3
8

.

v) limx→1
x100−2x+1

x50−2x+1
= limx→1

(x−1)(x99+x98+x97+...+x−1

x49+x48+...+x−1
= 98

48
= 49

24
.

vi)

lim
x→1

x + x2 + x3 + ... + xn − n

x − 1
= lim

x→1

x − 1 + x2 − 1 + x3 − 1 + ... + xn − 1

x − 1

= lim
x→1

(x − 1) + (x − 1)(x + 1) + (x − 1)(x2 + x + 1) + .. + (x − 1)(xn−1 + xn−2 + ... + 1)

x − 1

= lim
x→1

(
1 + (x + 1) + (x

2
+ x + 1) + ... + (x

n−1
+ x

n−2
+ ... + 1)

)
= lim

x→1

n−1∑
i=0

(n − 1)x
i
=

n−1∑
i=0

(n − 1) =
n(n + 1)

2
.

2. i) limx→0
(1+x)(1+2x)...(1+nx)−1

x
= limx→0

1+(x+2x+...+nx)+o(x)−1
x

= 1 + 2 + ... + n =
n(n+1)

2
.

ii)

lim
x→0

(1 + mx)n − (1 + nx)m

x2
= lim

x→0

1 +
(
n
1

)
mx +

(
n
2

)
m2x2 + ... + mnxn −

(
1 +

(
m
1

)
nx +

(
m
2

)
n2x2 + ... + nmxn

)
x2

= lim
x→0

(
n
2

)
m2x2 −

(
m
2

)
n2x2 + o(x2)

x2
=

(
n

2

)
m

2 −
(
m

2

)
n
2

=
mn

2
(n − m).

iii)

lim
x→2

(x2 − x − 2)20

(x3 − 12x + 16)10
= lim

x→2

((x − 2)(x + 1))20

((x − 2)(x2 + 2x − 8))10
= lim

x→2

((x − 2)(x + 1))20

((x − 2)(x − 2)(x + 4))10
= lim

x→2

(x + 1)20

(x + 4)10

=
320

610
=

310

210
.

3. i) limx→∞ x
4
3

(
3
√

x2 + 1 − 3
√

x2 − 1
)

= limx→∞ x
4
3

(
3
√

x2 + 1 − 3
√

x2 − 1
)
·

3
√

x2+1
2
+

3
√

x2+1· 3
√

x2−1+
3
√

x2−1
2

3
√

x2+1
2
+

3
√

x2+1· 3
√

x2−1+
3
√

x2−1
2

ii) limx→16
4√x−2√
x−4

iii) limx→∞
√

x3
(√

x + 1 +
√
x − 1 − 2

√
x
)

iv) limx→a+

√
x−

√
a+

√
x−a√

x2−a2
.

4. i) limx→0
cos x

x

ii) limx→0
tgx
x

iii) limx→a
tgx−tga

x−a
.


